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x x x+4
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Sol. Wehave,| » x+4 «x |=| =x x+ 4 x [ R, = R, + A,]
x x x+ 4 X x x+ 4

2x 2x 2x 4 4 0
=|lx x+4 x |+]|x x+ 4 X

X x X+ 4 x X x+ 4

[here, given determinant is expressed in surmn of two determinants]
1 1 1 1 1 0

=2x|x x+ 4 r |+4|]x x+4 x

x x x+ 4 x x x+ 4
[taking 2x common from first row of first determinant and 4 from first row of second
determinant]
ApplyingC, =+ C, -C;andC, - C, - C;infirst and applying C, = C, - C, in second, we
get
o 0 1 0 1 0
=2x| 0 4 x |+4[-4 x+4 «x
-4 -4 x+ 1 0 x x+4

Expanding both the along first column, we get
2x[-4(-4)]+ 4[4(x + 4 - 0)]
=2x x16+ 16(x + 4)
=32x + 16x + B4
=16(3x + 4)



